
Několik vzorečků jako nápověda u písemky
(k čemu který je, už samozřejmě nutno vědět)

Rt+1 = (1 + i)Rt + xt+1 − xt � Rt = xvn−t+1

PVi = RPV,i +
i

i(p)
(xan ,i − RPV,i) � RPV,i = x

(1 + g)−n − (1 + i)−n

i− g

Vam ∝ 1 � VaM ∝ r− r f 1

rp = r f + (rM − r f )
σp

σM
� rp = r f + (rM − r f )βp,

(IA)x =
Rx

Dx

(IA)xn =
Rx − Rx+n − nMx+n

Dx

(DA)xn =
nMx − Rx+1 + Rx+n+1

Dx
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ä(p)
x ≈ äx −

p− 1
2p

ä(p)
xn ≈ äxn −

p− 1
2p

(1− nEx)

k| ä
(p)
x ≈ k| äx−

p− 1
2p kEx

Ax = 1− däx � A1
xn = växn − axn � Axn = 1− däxn
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